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Psychology
Paper III
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wyuEeRT 111

1
Time Allowed : 25 Hours] [Maximum Marks : 150

Note : (i) This question paper has Seventy five (75) multiple choice questions.
Each question carries Two (2) marks.
(1) Attempt All questions.
AT ¢ (i) A YLAULIRd THU UEEd] (75) SUERN U SfRd. Uodeh U g (2)
T STe.

(i) G geAEn S feran

1. The most effective method of 1. H'é"hl(ﬁl 1|¢|¢|ﬂ|(r| 3:[%,e,|e,|.-||-qﬁ| quﬂ
learning in cooperative groups
emphasizes :

(A) group goals and group (A) T IR 9 = SeEeR
responsibility

qiUmHeR e Tgdl IR WX ed

(B) eI SRt 9 HAfadl STeeRRl
(B) group goals and individual X X R
responsibility (C) Tl QR d HAlkddl 3g[o

(C) group responsibility and (D) =AfF=T S 9 SAfa=t STeMegrl

individual goals 5 5 . A
9. & I Iy Erell i oo ¢

(D) individual goals and individual
responsibility (1) HH% IFIAE

2.  Von Restorff effect is seen :

(2) I WETd AT
(1) in serial learning

. . ) ) (3) HK FAERA
(2) in paired associate learning

(3) in free recall (A) (1) =fur (3)

(A) (1) and (3) (B) (1) =7for (2)
(B) (1) and (2)

(C) (1), (2) and (3)
(D) (2) and (3) (D) (2) =fur (3)

(©) (1), (2) 7for (3)

[P.T.O.



Match List I and List IT and select
the correct answer by using the

codes given below :

List I List II
(Term in factor (Example/Brief
Analysis) Explanation)

(P) Factor Extraction (1) Correlations among
method oblique factors

(Q) Factor rotation (2) Method to decide
method number of factors
for rotation
(R) Cattell’s scree (3) Principal axes
(S)  Interfactor

correlation matrix (4) Promax

(5) Correlations among
varimax-rotated

factors

Codes :

P Q@ ® O
@A 3 @ @ (2)
B) @ G (@ (1)
© 3 @ (@ (1)
M B @ (@) (5)

FEB-13313/111

AT 19 F€ET 11 I Sireal Al @ire]

[N

fooiean Fehag=t dyd Irg S e :

Tqet 1 U | |
(e fagamoTder

(SSTERUT/HT T =ui)
LiED)
(P) = oo wgdt (1) fodfer sesmmeie
BESER)
(Q) wF T TSN (2) FHTAT ATHTST

TTHTET &Il

Sferam= agt
(R) ==t =t (3) fufguer ofem

(S) oratew weEayw  (4) W

TR (5) =aqdem Y
TehTafdd  Seehi-
Tefiel HedaY
'ﬁ@zﬂ'ﬁ?ﬁ :

P @ ® O
@A 3 @ @ (2)
B @ B (@ (1)
© 3 @ (@ (1)
M B @ (@) (5)




The tests of convergent ability :

(1)

(2)

(3)
(4)

(A)
(B)
(®))
(D)

generally require normative
data for scoring and
interpretation

will show negative correlation
with divergent ability tests

have specific answer/s

will rarely attain
reliability of 1

(3) only

(1) and (3) only

(2) and (3) only
(2), (3) and (4) only

scorer

To understand loss and recovery of

Indian

self-influenced by

colonialism, Ashish Nandy :

(1)

(2)

(3)

(4)

(A)
(B)
(®))
(D)

argues that age and sex
influenced self-construction in
British India

uses argument of existentialism
to explain influence of ideology

uses psychoanalysis to
understand influence of age and
sex

uses social learning argument
to understand impact of
colonialism

(1) only

(1) and (2) only
(1) and (3) only
(2) and (4) only
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e fa=m ==

(1)

(2)

(3)
(4)

(A)
(B)
(®);
(D)

MG U & SAefaaromare!

HFRIERT Yer=il SATEgehdl THd

Sgatell foamr=n arevareh TS
Heqay quiferd
fafere W saa

Tulieheh foamafar & safaaa 1

3 IRd

(3) T

(1) emfor (3) wherd

(2) for (3) Wherd
(2), (3) U (4) ek

JHRAGHes R T&-THTE0 iUy
AT AT SAThSEIS ST =

(1)

(2)

(3)

(4)

(A)

(B)

(®))
(D)

feivmenTea vRa fam sufor o=
A JE W-GEAeR geal 39
HHEAId

faaREaR=aT guTare TSR]
AfEITaR= "9R—IH S

e a7for == A= 9Te FHSTOATETS
TAIfIveToumel a9 hidrd

FUIRAIET=T Y9Td  GHSTUITATS!
ISR 37egd fekaer=l AT
EXGIG]

(1) e

(1) 371 (2) werd
(1) 37for (3) werd
(2) 3Tl (4) e

[P.T.O.



The relationship between
hypothalamus and the secretion of
epinephrine and norepinephrine

during emotional arousal is

mediated by :
(A) Sympathetic nervous system

(B) Parasympathetic nervous

system
(C) Somatic nervous system
(D) Adrenocorticotropic hormone

Give correct order from the largest
to the smallest amount of
information that enters into various

memory systems :

(A) Sensory memory, short-term

memory, long-term memory

(B) Long-term memory, sensory

memory, short term memory

(C) Long-term memory, short-term

memory, Sensory memory

(D) Short-term memory, long-term

memory, Sensory memory

FEB-13313/111
YT TH S Hafdeh SR
TRART 9 TRUAwE S9u JHea
Hee HIMER Bl ?

(A) STTHUT <IATHE

(B) IO e

(C) HIfIer <SaTEEe

(D) sffgpifdRiaiits A

Tydren fafay EEAME o o
Trfedt=n Faifyes d Aaed 191 97T HH
3|

o [aV

(A) dgfe wdl, STeuhiicen T,

<TefehTet Sl

(B) Srei&Td wdl, agfe wqdl,

STeqehlfcteh Sl

(C) TrelehTei Hat, 3Teqehlfalh &I,

agfeh Tl

(D) STeUIicieh T, SrERIeiE S,

et =




Match List I with List IT and select
the correct answer by using the
codes given below :

List I List II
(Glands) (Function)
(P) Pituitary gland (1) Brain growth
(Q Hypothalamus (2) Sexual maturity

(R) Thyroid (3) Regulation of

pituitary gland
(S) Estrogens/ (4) Physical growth
Androgens
Codes :
P Q@ {® O
A @ G @O @
B2 @O @ O
o on @ & @
O @ @O @ O

The theory which suggests that
leaders adopt a style of leadership
that best fits the need of their group

is :
(A) Normative theory
(B) Goal setting theory
(C) Equity theory

(D) Transformational leadership

theory

FEB-13313/I11
IS 1 F A 11 Hefte A Sire ared

arell feoied Hehay= AYA AT IW
[REELIE

e 1 T 11
(3reft) ()
(P) dfoemt Teft (1) Hgen fawe
(Q) JUTIAAETHR  (2) <ifiTeh T

(3) dHgferenT U=
IERLE]

(S) TENH/A-ENA (4) IRIR® fawmg
el
P) Q@ ® O
A @ G QO @
B2 O @ G
e o 2 6 @
O @ @O @ O3
TSI AR TRS®Y AR

hRard 318 AU 3Tt hiord ?

(R) Taguedt

(A) e gerd

(B) wreA-fafvedt Sqow

(C) sfaardt e

(D) TERETHA et g

[P.T.O.



10.

11.

12.

In a psychological clinic a child, with
an IQ of 64, was diagnosed to be a
case of mild mental retardation. On
DSM IV/IV (TR), this diagnosis
would be recorded on :

(A) Axis I

(B) Axis II
(C) Axis IV
(D) Axis V

Which one of the following is
considered to be a culture-fair test
of intelligence ?

(A) Stanford-Binet

(B) Wechsler Adult intelligence
scale

(C) Army Alpha test

(D) Raven’s Progressive Matrices
test

Which of the following tools provide/s
comprehensive assessment of human
psychological needs ?

(1) Edwards Personal Preference
Schedule

(2) Rotter Incomplete Sentence
Blank

(3) Thematic Apperception Test
(4) Word Association Test

(A) (3) only

(B) (1) and (3) only

(C) (3) and (4) only

(D) (2), (3) and (4) only

10.

11.

12.

FEB-13313/111

Tehl ARSI fafecaraard, 64

iGN ST Tohl o e die

qfdHedr 3™ H{uad 3. DSM IV/IV

(TR) 9&A T e hIoTe 31&7TeR grEdel
SIS

(A) 31§ 1
(B) 31§ II
(C) 3§ IV

D) =¥ V

JICTUeh! IO FEhal RIS (culture-
fair) il =T=0l HESUAE Ad ?

(A) ETHS-fom

(B) 9¥eR 3iSee gefoieid Thd
(C) At STe®HT ==
(D) &9 fqa HeEed 9t

qEcTdeh] ShITc TMFUIgR HIFel A
TRS™ 9geATIsh oAk & ?

(1) TSaSd THTd JHEd Hegd

(2) AR TR T =ik
(3) fodfesh Sfo@wH 2w
(4) =€ JERERE T

(A) 3) ek

(B) (1) =mfor (3) wek

(C) (3) omfur (4) el

(D) (2), (3) (0T (4) e




13.

14.

Which one of the following

statements is true ?

(A) Semantic memories are more

durable than episodic memories

(B) Episodic memories are more
durable than

memories

semantic

(C) Both semantic and episodic

memories are equally durable

(D) Durability of semantic

memories depend upon

durability of episodic memories

Which one of the following is
incorrect about schemas in social

cognition ?

(A) People tend to use role schemas

over trait schemas

(B) People use superordinate

schemas more often than

subtype schemas

(C) Schemas inconsistent with our
current feelings are less likely

to be used

(D) Schemas can be influenced by

primacy by presenting

information earlier

13.

14.

FEB-13313/111
Weftelden! v foad a3 ?

(A) ST ECTaeT Jefuy Sl At
fente er|d

(B) A9 wydtas wed Tl Afush
fesres e18d

(C) IR TAr M FeAT T SR

R fehrss ST9aa

(D) AR T fehTdun ST Td=

fehTHIUIER STacied STl

IS AT STTHTad erared

QAyh! RO Fehld 38 ?

(A)

diw T fersea- s fas |

SO e fHehT— TR e ST

(B) @i gemaaim-snefasea &

SUYhR-AThH{qaaae S ddl

Aradrd

(C) 3TM9IeaT FeIr=ar wreen faea

ST IaE AT I hHT ST

(D) wifedt el WS Shed™ WHwIdl
STHfqaEren F9Ifad hid

[P.T.O.



15.

16.

Select the correct sequence according

to Neisser’s cyclical theory :

(A) Sensory cues, person’s
expectations, model of probable

object, mental representation

(B) Sensory cues, model of probable
object, person’s expectations,

mental representation

(C) Sensory cues, mental

representation, person’s
expectations, model of probable

object

(D) Sensory cues, model of probable
object, person’s expectations,

mental representation

When asked to explain the proverb
‘People in glass houses should not
throw stone’ a schizophrenic patient
replied, “That is easy, you can break
the glass”. This indicates that
the patient had problems related
to :

(A) Perception

(B) Orientation

(C) Abstract thought
(D) Flight of ideas

15.

16.

FEB-13313/111
R e Isia fagragar 9 %e
e .

(A) SRR o, HAfRT=AT U, 9=

A IEY, HHfEER gidsau

(B) dsfi® HI&k, AHT TEqH
gTeY, SAGaeAl STUell, HAHEH

Ffasqur

~

(C) act
feqear T9el, WO awq
grEY

% Yech, HHIH®H Yideqo,

(D) dasfi®w gI&k, AT TEqH
gTeY, SAGaedl 3TUell, AMEHh

Jfaequ

" ST BRI UM SaRie] ST e,

T I R TR faee ST

U] foTH-andl STHeied T St e,
“T U oTR, TR T HIg. wiehar
A hodd hi UG ITARN HoHd
I AR

(A) Hoed

(B) Terdtvm

(C) 31 foeR

(D) HeRy faarymm




17.

18.

19.

Newborns are capable of :

(1) categorical speech perception
(2) being sensitive to phonemes
(3) babbling

(4) cooing

(A) (1), (2) and (4)

(B) (2), (3) and (4)

(C) (1) and (2)

(D) (1) and (4)

Interference affects :

(A) Sensory memory and short-term
memory

(B) Short-term memory and long-
term memory

(C) Sensory and long-term memory

(D) Sensory, short-term and long-
term memory

The kinesthetic learner or

perceiver :

(1) learns by doing

(2) is a good listener

(3) taps fingers for concentration
(4) moves during lessons

A) (1), (2), (3)

(B) (1), ), (4)

(C) (2), 3) (4)

D) (D), (2), 4)

17.

18.

19.

FEB-13313/I11
Jorsa Rrg] FrEewid WEH STHdd

(1) SIAvITE Yok {0McHsh HoleH

(2) - mfasgs Hoge™
(3) et

(4) g0

(A) (1), (2) =wfor (4)
(B) (2), (3) 37 (4)
(C) (1) s (2)

(D) (1) o (4)

FET GROMH AEX Bl

(A) iR Tt oA STedehtel= Tl

(B) STCIRIGH T ST Srefehren Tt

(C) oefeh omftr refeprete Sl

(D) defeh, TeuehTel ST SrefehTela
el

Tfqaes 3TeTITehdl fohell HagTehdl

(1) Fdl e Rrewdl

(2) =T #dl ST

(3) THWAHIS s 3fradl
(4) g TRdT Fe=A
(A) (D), (2), 3)

(B) (1), (3), (4)

C) (2), 3) 4)

D) (1), (2), (4)

[P.T.O.



20.

21.

Which is a correct sequence of stages
of development according to Rollo
May ?

(A) Ordinary, Innocence, Rebellion

and Creative

(B) Innocence, Ordinary, Rebellion

and Creative

(C) Innocence, Rebellion, Ordinary

and Creative

(D) Innocence, Rebellion, Creative

and Ordinary

Which is the correct chronological

order of brain development ?

(1) Development of neural fibers

from synaptic connection

(2) Synaptic pruning and

multiplication of glial cells
(3) Development of lateralization

(4) Development of regions of

cerebral cortex
A) (1), (2), 3), 4)
(B) (1), (2), (4), (3)
(©) (3), ), (2), (1)
D) @), (3), (1), (2)

20.

21.

FEB-13313/111
Uetl | STTER Jeh1faeh STaeer=n A %Y

IO ?

(A) 99, R, Se@R, 9sieh

(B) frma, o=, se@R, 9

(C) T, deEr, 9MM=, 9

(D) TR, d€ERr, Hsish, A

HIATIRHATER H= foshrEm=n Ira hH

IO ?

= s N

(1) =i SIS = qqan faehe

(2) <Aty g oo enerR eften
fara

(3) g TenHfdiel Tefententom=n faehr

(4) gAfETsh SR AT fahT
A) (D), (2), (3), (4)
B) (1), (2), (4), (3)
©) (3), (4, (2), (1)

(D) (4), (3), (1), (2)

10
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22. Cognitive maps become organized | 22. NUH® THRI I TGS Hoed 0
and accurate during : gk IAdd ¢
(A) Early childhood (A) & S
(B) Middle childhood (B) A¥F drcAaE Al
(C) Adolescence (C) RHRIEEA
(D) Young adulthood (D) g8 Wemeen
23. Which of the following is/are not | 23. Eciicidhl HITIA/HITTAl FETHIE/
factor analytic/structural models of JEHTHT! ek foreetTueHe: e/ ey
intelligence ? S
(1) Guilford’s model (1) frehEe 9r&y
(2) Hunt’s lexical access model (2) TId THdhA I WEY
(3) Spearman’s G model (38) THTHTY St 9ey
(4) Triarchich model 4) §|QIr°|'f°h qrey
(A) (2) only (A) (2 e
(B) (2) and (4) only (B) (2) 37Ul (4) &
(C) (1) and (4) only (C) (1) enfor (4) wer
D) (2), (3) and (4) only (D) (2), (3) 3T (4) e
24. Most common chromosomal | 24, HfguigE™ HRU A TEd THH
abnormality causing mental O STl
retardation is :
(A) TEH XXX
(A) Trisomy XXX
(B) @&l XXY
(B) Trisomy XXY
C) J&Hr 11
(C) Trisomy 11 © %
(D) Trisomy 21 D) P 21
11 [P.T.O.



25.

26.

27.

The relationship between task
difficulty and motivation is :

(A) Linearly increasing
(B) Linearly decreasing
(C) U-shaped

(D) Inverted U-shaped

Match List I with List IT and select
the correct answer by using the
codes given below :

List I List II
(P) Frontal lobes (1) Classical condi-
tioning
(Q) Prefrontal cortex (2) Encoding of words
(R) Hippocampus (3) Short-term memory
(S)  Cerebellum (4) Formation of decla-
rative memories
Codes
P @ ® 6
@A 3 @ @ (1)
B 2 @O O (4)
© @ & @ (2)
O 1 @ @ 3)

Which of the following clinical
procedure/s is/are not based on
classical conditioning ?

(1)
(2)
(3)
(4)
(A)
(B)
©)
(D)

Token economy

Flooding

Systematic desensitization
Transference

(4) only

(1) and (2) only

(1) and (4) only

(2), (3) and (4) only

25.

26.

27.

FEB-13313/111
FHTARISOT (0T GIO=T G STEl

Al
(A) ded SO W@
(B) ST B UM @
(C) U-3Tenrr=n

(D) e

Tl 19 At 11 9t A Siean agd
Trell feoied Hehay= AYd I IW

trréT.I e 11

(P) cw@e (1) stfvea st
(Q) Yot s (2) vt Fehad

U-AThI

(R) swad (3) STeTshTei Tt
(S) sraftash (4) fexwiee Ty
fmfor

'H@H’Hﬁ :

P) Q@ ® O
Aa & @ @ @
B @ O B @
©c@w B O @
O D @ @ O3
TRt ShioTdl/hivTear fafec
TG/ IS B/ AT SATTHEMER
ARa AE ?

(1) Gfderenes qIRaifoes gfshan
(2) fadamger=

(3) URHMIM IMEgvie

(4) &R

(A) @) ®e

(B) (1) T (2) ®ed

(C) (1) efor (4) e

(D) (2), (3) =AM (4) ek

12



28.

29.

30.

At birth these sensitivities are well
developed :

(1) touch
(2)
3)
(4)
(A)
(B)
(C)
(D)

taste

vision

pain

(1), (2) and (3)
(2), (3) and (4)
(1) and (2)

(1), (2) and (4)

Which of the following conception
of language proposes distinction
between surface and deep
structures ?

(A) Phase structure grammar

(B) Finite state grammar

(C) Transformational grammar
(D) Functional discourse grammar

In eye-witness memory, recall
depends upon :

(1) age

(2) gender
(3) stress

(4) culture
A) (D), (2), (3)
(B) (2), 3), (4)
©) (), 3), 4)
D) (D), (2), 4)

28.

29.

30.

FEB-13313/111
SFTEHT AT HoeHHAl T Yohil
foepTg Ireciean 3T

(1) wsf

(2) =d

(3) T

(4) o

(A) (1), (2) =wfr (3)
(B) (2), (3) 37 (4)
(C) (1) s (2)
D) (1), (2) =7 (4)

qe= Wewldidl elterdshl ShioTdl
ool I8 TEA 9 Ted GEl I
e A 2

(A)
(B)
C)
(D)

TSI T GAEe A1 SaeiaH
3

1) ==
(2) fem

(3)

(4) wEpAl

A) 1), 2), 3
(B) (2), (3), (4)
(©) (1), 3), @
(D) 1), (2), 4)

S WFI AR

hIEAEe T TR

SARIHYHA ST

hRF fethid MR

13

[P.T.O.



31.

32.

d' or the separation of distributions
for ‘noise’ and ‘signal plus noise’
conditions in signal detection
theory :

(A) does not change even when the
subject alters criterion from
strict to lax judgement

(B) Changes when the subject
alters criterion from strict to lax

judgement

(C) Changes only when the subject
alters criterion from lax to strict

criterion

(D) does not change only when
the intensity of the signal is

low

If the following variables are placed
in descending order with reference
to their correlation with general
intelligence, then the correct
sequence is :

(A) Fluid ability, numerical ability,
creativity, openness to
experience

(B) Numerical ability, fluid ability,
openness to experience,

creativity

(C) Numerical ability, creativity,
fluid ability, openness to

experience

Fluid ability, creativity,
numerical ability, openness to
experience

(D)

31.

32.

FEB-13313/111
‘egfa’ erfor ‘Hdharag @’ AT
faqomdiar 3R fohar d' § et fedw™

(A) S 9 heeh THeRsmar ffae
freremeRe ol sieerel a8 sgerd
T

(B) YIHM whew fHwomarga ffaa
famsee fAufgq dead @
ESGR

(C) ygA fafoue fAwrsmeE wes
fAwsree fAvfgq agaad @=
S

(D) e Siegl HehdT=it digal shHl 3THd
S G O |

SR wTee uftads = 9
AT ATATIT FEEd TIER
AT HAM TG, W AT HH &l

A

(A) TXA &THAI, GTIATCHS &THAT,

Hoeiieral, STvaren eraon

(B) TEAIHS &THdT, X &7, STvaren

AT, FSSierdT

(C) T &Hdl, HSHIieldl, aia

AT, AW GeTqun

(D) TA &Hdl, TSAvierdl, H&ATcH

AT, AW GeTqun

14



33. Which of the following is/are correct

in case of set point theories of

hunger ?

(1)

(2)

(3)

(4)

(A)

(B)

(®);

(D)

Glucostatic set point theories
argues that drop in blood
glucose is responsible for

hunger.

Lipostatis set point theories
argue that reduction in body fat

signals satiety

Set point theories cannot
explain evolutionary problems
of scarcity of food and large

intakes

These theories take into account
factors like taste, learning and

social factors
(1) only

(1) and (2) only
(1) and (3) only

(1), (2) and (4) only

FEB-13313/111

33. y&= U2 Uide fagHa{aRr Eefierie!
FOA SR 3T/3ARA ?

(1)

(2)

(3)

(4)

(A)

(B)

(®))

(D)

TR He dide THgHIdIER
I Ihdl ¥ & hdrd!

FHRUTYd 3T
fadredter ¥ dfde faguiargar
IRRAEA o2 Jitel Gehad TR

3TTT= gftfesdl & HISHTIHTINER ol

7 Schldidiadl AT 92 Uige

fagid T id AR

od, AT, WHISS Th ARG
w1 foguidims) gmEe oTRd
(1) ek

1) emfor (2)

Thekd

(1) 3mfor (3) e

(1), (2) 0T (4) e

15

[P.T.O.



34.

35.

Match List I with List IT and select
the correct answer by using the
codes given below :

List I List II
(Symptom) (Disorder)
(P) Cataplexy (1) Agoraphobia
(Q Excessive fear (2) Mania

of crowd or

market place

(R) Rapid speech  (3) Narcolepsy
and flight of
ideas (4) Claustrophobia
(S) Waxy flexibility (5) Schizophrenia
Codes :
P) Q@ @® O
A 1 @ G @
B) 3 1 @ 6)
€ B @ @ 6
M G @ @ O

In Piaget’s theory, sensori-motor
stage includes :

(1)
(2)
(3)
(4)
(A)
(B)
©)
(D)

circular reaction

goal directed behaviour
deferred imitation
animistic thinking

(1), (2) and (3)

(1), (3) and (4)

(2), (3) and (4)

(1) and (4)

34.

35.

FEB-13313/111
At 19 A 11 A=A el ared @il
fecied Fehagt AYA Irg W e -

ret 1 rer 11
(FTeTun) (Ferepeit)
(P) wwimit (1) foga T woe
(Q) &t feren IR (2) SE
srifa frdt
(R) ¥ s &

srHegy foemywo (3) srfdfremafe
(4) H9a T TS
(S) it geeiicar  (5) fo=meehan
Hehaeelt
(P)
A) (1)
(B) 3)
(C) 3)

(D) (5)

(R)
(5)
(2)

(S)
(2)
(5)

(Q
(4)
(1)
4 @) 6)
4 @) @3

fgars=ar fagrardta asfas-wrs

ToAEd el GHER whl
(1)
(2)
3)
(4)
(A)
(B)
C)
(D)

agearhR gfdfsha
eJgrehe AUR ddA

foreiferd STgehul

qarsteamet foam
(1), (2) efor (3)
(1), (3) 3 (4)
(2), (3) 3 (4)
(1) 3for (4)

16
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36. Which of the following is not an | 36. WIeiiciUsh! I WIfAHIRdT TerTH=
example of representativeness RO AT ?
heuristics ?
(A) Insensitivity to  prior (A) TI-HHEdAEd STHAGATRTA]
probabilities " A
(B) THATAT AThReTed AHAGTLeId]
(B) Insensitivity to sample size
(C) Misconception of chance (C) TEIISATA AIHS HTT
(D) Effectiveness of search set (D) 3Ny FEEt IROTHRRR
37. Which of the following is/are semi- | g7 wrefierisr) wHIvd/HIod qefgdgo
projective measure/s ? /AT TR 2
(1) Rosenzweig Picture-Frustration - - -
awes (1) Vaf=m fUeR wEIE wel
Study
(2) Rorschach Ink Blot Test (2) Wi T e =
(3) Thematic Apperception Test (3) fodtes oTmEwH 2w
(4) Sack’s Sentence Completion (4) ¥ ¥=9 FhE =
Test
(A) (1) 3o (4)
(A) (1) and (4)
(B) (1) and (3) B) () s (3)
(C) (1), (2) and (4) (C) (1), (2) 3mfur (4)
(D) (1), (3) and (4) (D) (1), (8) 3 (4)
38. Which endocrine gland links the | 38 ordl 37d:EME Ut Tard<del 31d &6t
nervous system to the endocrine TSN SIS TRER Sed ?
ia hypothal ? .
system via hypothalamus A) s T off
(A) Thyroid gland .
yroie g (B) sifugass Teft
(B) Adrenal gland .
8 (C) W ek
(C) Pineal gland )
¢ (D) i e
(D) Pituitary gland
17 [P.T.O.



39.

40.

Match List I with List IT and select
the correct answer by using the
codes given below :

List I List II
(Attitude Scaling (Feature)
Technique)
(P) Equal appearing (1) Checks unidi-
intervals mensionality of
the scale
(Q) Paired comparison (2) Suitable for

scaling small

number of items

(R) Scalogram (3) Can assess
multidimensional
attitudes

(S) Summated ratings (4) Suitable for
scaling large

number of items

Codes :
P @ ® ©
A @ @ @
B G @O @ 4)
< 3 @ @ @
O @ @ @O O
Individual uses quantifiers in
solving syllogistic reasoning

problem is an example of :
(A) Atmospheric error

(B) Conversion error

(C) Semantic error

(D) Belief Bias

39.

40.

FEB-13313/111
At 19 A 11 A=A Sieal ared @il
fecied Fehaget AYA Irg W e -

R | e 11
(afirgett wro o) (aifvree)
(P) wm @il wgat (1) @wioi" ws-
TMHE AU
(Q) F=-go wgdt  (2) wHT  =T=i-
faurren Ama-
FHIOMEE A
(R) wheim (3) w-smamh sfu-
= qeArw
FHE IR
(Q) wamHfer wef=em (4) wfers =r=vii-
faurren Ama-
FHIOMEE A

-
.
-

P Q@ R O
@A 1 @ 3 @
B 3 @O @ @
© 3 @ @2 @
D @ @2 @O O3

T dohi=al HE Trefadmr =xeri
qIIhT=l (FARIBRR) STAN Hidd ©
AN A ~

qeicTdshl H¥MH I2EL0 3T 7

(A) ATdERTE JHIG
(B) @O YHIG
(C) AW JAE
(D) fovam 1]

18



41.

Question Nos. 41 to 46 :

Each of the following six questions
consists of two statements : One
labelled as Assertion (A), and the
other labelled as Reason (R). You
have to examine these two
statements carefully and decide if
the Assertion (A) and the Reason (R)
are individually true, and if so
whether the Reason is a correct
explanation of the Assertion. Select
your answers to the following six
questions using the codes given
below and mark your answers on
the answer sheet accordingly.

Codes :

(A) Both Assertion and Reason are
true and Reason is the correct
explanation of Assertion.

(B) Both Assertion and Reason are
true but Reason is not the

correct explanation of Assertion

(C) Assertion is true but Reason is
false.

(D) Assertion is false but Reason is
true.

Assertion (A) : Persons with high
need for achievement prefer to take
moderate risks as a result of skill and
not chance.

Reason (R) : Persons with high
need for achievement have strong
fear of failure.

41.

FEB-13313/I11
U9 oh. 41 d 46 :

TIelal F@l Y¥Aehl G o faem
3T1ed. TehTell fadre (A) STIfor ge=ame
PR (R) o 719 e e, qeeen &
Sl foum Flesiqdsr qUrE@E= 3Ted
T 3T S 378 ! Ffqdre ST SR
THAAY0 @R AR I, 9 SR q9 WA
T RO § FiAUEr I TR 3T
1. Weliel Fel g9 S @reft foetesn
HhaaR faer onfor @y qHEen
STUfhel. Eol .
Hahd
(A) wfaures smfor wRO S8 B 2TRA
9 SR § FfqUIEATe A0 T
TR,
(B) ufaures smfor R S8t W 2TRd

qur HRO ® yfdurears A
reri coray B 1

(C) Ffdued ®R 3 YUl SR @i
3TTE.

(D) 9fqured @i 378 90 HRU 'R
8.

Yiaure (A) : 359 TUEH YO ST

R HITCATTRG, had JNTANTER

ST el HEAH R S

BT,

HROT (R) : =9 GUgH ION 19l
SIFAT ST i il 3T

19

[P.T.O.



42.

43.

44.

45.

Assertion (A) : If a personality
psychologist wants to carry out
second-order factor analysis, first-
order factors should not be subjected

to varimax rotation.

Reason (R) : Varimax rotation
provides orthogonal factors.

Assertion (A) : Greater the number
of people present at emergency, it
is less likely that individual acts.

Reason (R) : Empathy-altruism
hypothesis proposes that more
number of bystanders creates
failure in the perception of

emergency.

Assertion (A) : Research has shown
that instructions inducing low
motivation are detrimental for high

anxious students.

Reason (R)
condition for high anxious students

: Best motivating

is where no reference is made to

success.

Assertion (A)

when behaviour is complex.

: Shaping is used

Reason (R) : Learning process in
operant conditioning may be
shortened if approximation of the
desired behaviour is rewarded.

42.

43.

44.

45.

FEB-13313/I11
yfaues  (A) S =gfaduca

AR fgdi=a- 9ot s fagerso
HATIE WA, R IIH A Hhd
TR Ihredd e 9.

HRUT (R) ; ZOHRT ThTodd shieehiHl
TThH <.

gfqureT (A) : 3Tkl k= &

ded it S hal HIUATHT I

Sl 2

®RUT  (R) : dgrq¥dl-uifgaqsi

SUTTIIER fSideh S ofieh  Iufeerd

G fdeh SToei= HogA STE®a B
gfeares (A) : FENEEN 3™ SrEad foat
3TTR i hHT Ffa=a IROMIA o= =1
st feam forneat e eres ot

HRUT (R) : A faam= foameatardt
T HOR Faam aRferdt = 99
IJenfawEt horaEl W Id AL

yfaureT (A) :  Sieel o Hehiul 3TEd
®RUT  (R) : SUMORe WY

AT Yfhal Sole Bd S sfosd
AT STelcdsTeies SUsR Sq-Tell ITaioeh

foar SEen
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46.

47.

48.

Assertion (A) : Osmometric thirst

is a function of a drop in the
intercellular fluid.

Reason (R) : It is well-known that
thirst is caused by a drop in the blood
plasma.

Observational learning :

(1)

eliminates trial and error
learning.

(2)

takes less time than operant
conditioning.

(3)
(4)

includes modelling.

gives results equivalent to
learning by insight.

(1), (2) and (4)
(2), (3) and (4)
(C) (1), (2) and (3)
(D) (1), (3) and (4)

Which of the following is true in case
of D-needs and B-needs in Maslow’s
hierarchy of needs ?

(1) D-needs can be fulfilled by
eliminating the deficiency

Beauty, truth, goodness,
simplicity, etc. are B-needs

(A)
(B)

(2)

D-needs are at times existential
and spiritual

(3)

Esteem needs and self-
actualization are B-needs in the
hierarchy

(1) and (4) only
(1) and (2) only
(1), (2) and (4) only
(2), (3) and (4) only

(4)

(A)
(B)
(®))
(D)

46.

47.

48.

FEB-13313/111
. QUELONE dgE §l

gfauret  (A)

3T IR ST oS AT AN,

®ROT (R) : & A 3R i G&H &
TS WM ¥ HAHS Al

rieuners s

(1) I YA BIOR STEIIA 6 .

(2) SAIRH STHHLATIET HH Ja1d Bl

(3) UfT®U STTERUMT Faia .

(4) WHTS! AFIAEA A gRomH
fafifa.

(A)
(B)

(1), (2) AT (4)
(2), (3) 0T (4)
(©) (1), (2) 7for (3)
(D) (1), (3) 3 (4)
= TRST= AT AUIgER 21 e
g ‘et TS AT Eefterdeht

HIUd ST Q2

(1) TR Y& HIEeAH SI-TRs ot

BT

(2) Ticd, T, IRTAION, TGO, 3. AT
TS 3T

(3) TI-TRST A FIEl ddl Afdcaare]
T ATeATf e 31T

AT TS AT SATCHATK[SI5h [eh U]
7 fuguiged si-TRST eTRd

(1) STfor (4) ot
(1) s7for (2) et
(1), (2) S (4) e
(2), (3) MU (4) ek

(4)

(A)
(B)
(®);
(D)
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49. The research findings indicate that

50.

job satisfaction and performance

usually have :

(A) no correlation

(B) weak negative correlation
(C) weak positive correlation
(D) strong positive correlation

Which of the following is correct

regarding emotional intelligence ?

(1) MSCEIT is based on trait model
of EI

(2) Perceive, use, understand and
manage emotions are aspects of

ability model.

(3) Trait model of EI generally

employ self-report EI measures

(4)

Self-motivation, self-awareness,

change management are

aspects of trait model of EI.
(A) (1) and (3) only
(B) (1) and (4) only
(C) (2) and (3) only

(D) (2), (3) and (4) only

FEB-13313/111

49. HINYT 79 <yifad &1 wE-FHEE o

50.

fHeida =m=ama

(A) TeHaY ARl

(B) et RUMcH: Heady 378

(C) dre™l Y¥aIcHs Heuey 3T%

(D) R S Teoad 3T

TefteTdehl 0 &S JlgadeRa

TR 3R ?
(1)

MSCEIT g "aish gfga=an T
fagraer staf@ s

IO 3O AT HIO ¥ &Il
foagam am smRa

(2)

(3) wratte dfgaa=an U fagraa

HIYROTAU T HIYA  STadTd

(4) TN, UM, 9&0 SHRATTH § 01

g™ A 9 3Tied.
(A) 1) enfor (3) e
(B) (1) e7for (4) e
(C) 2 enfor (3) e

D) (2), (3) 37U (4) e
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51.

Question Nos. 51 to 55 :

Read the following paragraph and
answer the five questions which

follow :

An experiment was performed
varying ‘modality of presentation’
(A) at two levels and ‘retention
interval’ (B) at three levels and using
‘recall scores’ as the dependent
variable. Each cell contained
randomly assigned twelve subjects.
After the experiment was over, cell-
wise means and standard deviations
were obtained. The cell-wise
standard deviations were
approximately equal. The data were
analyzed by following suitable model
of ANOVA. One of the interesting
finding was that the F ratio,
computed as (MS,,p/MSg) was

significant at .01 level.

How many subjects were employed

in the above experiment ?
(A) 24
(B) 36
(C) 60
(D) 72

51.

FEB-13313/111

WA 51 d 55 :

Geliadl IR=ge a9 AEeted 9=

Y SO

ThT JATA G SSTHTEIH ' (A) ATl
T UIdeier ' gRun-sh1ed’ (B) AT 91
qTdesio’. BIdTesvaTd 371, * TeTaTe UTwiieh

T onfa uRadd 2. 9s Ia  (cell)

[N

feeiel IR Wga B

Ty Afafaea e

TN FAHR Tk dota HE (mean)

F YU fa=ae FIeuard 3. 9d Jod<

TH To=er Saessiaes 9RE Bid. Yo
fageroor g=ror favawome I 9rey

JIIET  HITATT  ATA. ITdHT Tk

gAY Hictd BUS (MS,, g/MSg) =1
M hletel F TOIRR .01 AIdesier Taruii
.

el JANTd fohdl Ige STaeodTd 37Tt ?
(A) 24
(B) 36
(C) 60

(D) 72
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52.

53.

Which one of the following
statements appears to be correct for

the above experimental data ?

(A) The assumption of homogeneity

of variance is violated

(B) The assumption of homogeneity

of variance is satisfied

(C) No data are provided about the

assumption of homogeneity of

variance

(D) Means and variances are

proportional

What would be the degrees of
freedom associated with the main

effect of retention interval ?
(A) 2
(B) 3
C) 5

D) 6

52.

53.

FEB-13313/I11
Fa YRR Yewr= Hevid Jeietdeh!

0 o seX 3e 2

(A) Y=ROM=AT UhSTHIIU TEeT=<l
Tieder SeasH B

(B) 9=RUM=AT Uh{SHIIU et
Tfeds THEE B

(C) 9IXomT=AT Ueh STHIYU FEA=AT

TfeasTen Geuld yea feorel i
(D) |&g AMOT Y=RO YHIOMG  37ed

YRUM-ShIaT= Y@ IRumERT dafyd

gferd-yamorEE fhdt emea ?
(A) 2
B) 3
C) 5

(D) 6
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54. Which of the following conclusion/s

55.

can be drawn from the above
data ?

(1) Main effect of modality of

presentation is significant.

Main effect of retention interval

(2)

is significant.

The
significant

interaction effect 1is

(3)

Neither the main effect nor

(4)

interaction effect is significant
(3) only

(4) only

(C) (1) and (2) only

(D) (1), (2) and (3) only

Which of the following statement/s
is/are correct about the experimental

(A)
(B)

design employed in the above study ?
(1)

It is an imbalanced factorial
design

(2)
(3)
(4)
(A)
(B)
(®);
(D)

It is a balanced factorial design
It is 2x3 factorial design

It is a between-groups design
3 only

(1) and (3) only

(3) and (4) only

(2), (3) and (4) only

FEB-13313/111

54. A YEEEA YATIh! I STTHM

55.

Fledl e ?
(1) Y&dr=a1 SeHIeH=1 gq@ iy
LTI 3TR.

(2) YRUKIT=T YHE IR ALt
3Te.

(3) oAdfswar  uftomm  waroiy
TR,

(4) 9q@ 9Rumm fRan efafmar 9fkom,
HER AT A&l

(A) B T

(B) (4) e

(C) (1) = (2) Had
D) (1), (2) 371 (3) e

FUA AT AT ATt IR
/o e/ faum
TR 3R/ 3TRed ?

(1) & UH AGgfeld Tehiard @it
e

& T Tford FhITERT STE 3T

B Th 2x3 TSHIIER! @ 3T

g Tk T -gE’  (between-
groups) @MU 3T

3 ®ad

(1) 37for (3) e

(3) ofur (4) ®e
(2), (3) AU (4) T

(2)
3)
(4)

(A)
(B)
(®);
(D)
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56.

57.

58.

Which theory implies that people
can change their emotions simply by
changing the way they label their

arousal ?

(A) James-Lange theory

(B) Cannon-Bard theory

(C) Opponent-Process theory

(D) Schachter’s two-factor theory

Cultural differences in perception
are associated with :

(1)
(2)
(3)
(A)
(B)
©)
(D)

biological factors
environmental factors
socialization practices
(1) and (3)

(2) and (3)

(1), (2) and (3)

Only (3)

Wason Selection Task of conditional
reasoning involves condition ‘if P
then Q. The correct answer for it
is :

(A) P and Q

(B) P and not Q

(C) Not P and Q

(D) Not P and not Q

56.

57.

58.

FEB-13313/111

N N
dlsh ATIHIT STOME (arousal)

31 -foerul SqeA SAUEH WAl §8q]

SThdTd, © ohIUl ITU<igR Jfed Bd ?

(A) SFg-eT= 399

(B) S-oTedl 39U
(C) fauer gfepan Iqu=ht

(D) ViereTH fgoes Squxil

HogATdel HIEahideh Tieh ARt et
HYdId

(1)

(2) URftords= weeh
3)
(A)

STaRTEE o

TSR R LU= dagal

(1) efor (3)

(B) (2) sfur (3)

(©) (U, (2) sfor (3)

(D) % (3)

Fracrsll deR= o9 fae wriae S
4t R Y’ et 3 YA, AEESd s’
IW IR :

(A) 9 smfor =

(B) W sufor Are w1
(C) #fe dt anfor =7
(D) fe dt effor Hfe ==
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59.

60.

When a manager/supervisor is

considering effort and motivation
while evaluating job performance,

he/she is most likely relying on :
(A) attributional processes

(B) expectancies

(C) halo effects

(D) impression management

A social worker, with a qualification
of Master of Social Work (MSW) who
was appointed as an assistant to a
psychiatrist, used to administer and
interpret Rorschach test. This is

an :

(A) Ethically incorrect practice

(B) Ethically correct practice

(C) Ethically correct practice
provided the results are kept

confidential

(D) Ethically correct practice
provided the results are used

only for diagnostic purpose.

59.

60.

FEB-13313/111

Segl SeEedeh/ T ek BI/E -

~

fEidATe eI HTIA ShdM1 JaeT STIfur JXon

A1 for=amd =dt deat @/t agen Arearer
YR Tedl/TEd

(A) UMY gfsRan
(B) smyemaT

(C) Tt 4

(D) TEYHTETE ST

TR 3% AR ah (MSW) 7R1t 9=t
STECIE Ueh WINTA eh L= Wh! HAITRTd

o o

[Hlehcdehld] HelXen YA

e ==l <d o F e 319 -faer

ERENIREI] P

F 3. B TH :

(A) Afqergee i<l Ugd TR

(B) Hfdehgeean sk Ugd o1

(C) Wfcetd Sradd Ta=g SIUArd T,

~ [d \Wa

qd, Afdehgsel aleR Ugd TR

4

(D) ®fadi=r UMM wad ASHS

HTITETS HITITd Adl, @gdq

4

LN

Afqengse seR Ugd TR
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61.

62.

In probability learning :

(A) recency effect is seen

(B) negative recency effect is seen
(C) primacy effect is seen

(D) negative primacy effect is seen

Which is the correct sequence to

sleep related aspects listed below ?

(A) Increased cortisol — NREM
sleep—REM sleep — awakening

— high melatonin

(B) High melatonin — REM sleep
— NREM sleep — awakening

—increased cortisol

(C) NREM sleep — increased cortisol
— REM sleep — awakening —

high melatonin

(D) High melatonin — NREM sleep
— REM sleep — awakening —

increased cortisol

61.

62.

FEB-13313/111
FYSIAl STI9ATd

(A) GFAwshrelTar giomm fogm o

(B) TehRIcH Fi-Tgehicii=ar aiomd fega
Al

(C) e qRome fogd 3@

(D) TeRRIcHsh Ter=rel IRom fegq &l
U GeEid @ieilel Seehr= I shH
IO ?

(A) Hidgiemed ae — feer 339 fg1
— o e 51 — S e —

eI a6

(B) HeleHIMHE] 96 — Soie A5 ]
— fer 3 figr — @ g —
Earateirgt e

(C) Rk 77 f31 — =ididEiems ae

— SeIe e g — S g —

el aed a6

(D) Tt med a6 — fer 77 51 —
Sl e g — S ge —

Earatsi gtk e
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63. The theory of intelligence that | g3. e fagea <o JEHi T 'R
explains three stratum of TS ey oTRd 9 SO (99 WUER
intelligence that include general A SRR (S ST, A R frer
intelligence (g) at stratum three is - ’
proposed by : '

(A) Spearman (8) =i
(B) Carroll (B) e
(C) Sternberg (C) wiar
(D) Guilford (D) firerwE
64. Match List I with List IT and select | 64. @& 19 A&t IT =1 SSa <Al el
the correct answer from the codes feeiean Hehay=t AyA Arg W feren .
iven below :
& a1 I |
List I List II
(Psychologist) (Personality Measure) ( ) ( )
(P) Guilford, JP. (1) California Psycho- ) frewE, S 1) wfawifHan am-
logical Inventory CAGISE Tl g@;ﬁ
(Q) Saucier, G. (2) Isndfx of Personality @ ﬁa:r{, St @) = T T
tyles
el
(R) Gough, H. (3 Temperament
Survey (R) &, TH. (3) STHE W
(S) Millon, T. (4) Adjective Check ) TueE, @ ) cfese 9% fore
List
Codes : =
P @ @® O P Q@ @® O
Aa o @ G @ Aol @ 3 2
B) 2 3 1 4
® @ @ @O @ ® @ 6 @O @
e 3 @ @GO @ ©O® @ O @
3 4 1 2
d 3 @ 2 @
D 3 @ 2@ @
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65. Match List I with List II and select | 65. @l 19 3&t 1T =1 Siel Al el

the correct answer from the codes
given below :

List I List II

(Bias in Social (Description)

Cognition)

(P) Planning fallacy (1) Assess events
by thinking

about options
(Q Automatic (2) Belief that

vigilance cannot stand

factual scrutiny
(R) Counterfactual (3) Optimistic bias
thinking for task com-
pletion

(S) Magical Thinking (4) Tendency to
attend negative

stimulus

(5) A belief that
magic happen

in reality

Codes :

P @ R ©
A 3 @ @ 6
B2 & O @
© @ @2 B 6
D & @ @O @

fecied Fehaget AYA I W e -
R | R |

(TSR aremTetet T (qui=)

() FESH dha™ (1) SRATH HEIHATIA
T foaR e
O
(Q) IFTd TINEHdl  (2) qALAHIRaA faversound
7 fewrom favam™m
(R) it qex fo=m  (3) wrd qddsred=t
STRTER! ST
(S) g fa=m (4) HUMCHS SEIIhI-
S UM oI
Gl
(5) SIg ATATd o
ka3l favard
H‘E‘F’ﬁ'{:lﬁ :
P Q@ ® O

A @ @ @ 6
B @ B @O @
© @ 2 3 6
M @ @ @O @
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66. Which of the following is true in case

of self-esteem ?

(1) It is an overall evaluation/

appraisal of self-worth

(2) Self-competence has been
considered as an aspect of self-

esteem

(3) Self-report measures are less

popular than projective

measures of self-esteem

(4) Factor analysis is not applicable

to understand self-esteem

(A) (1) and (2) only

(B) (1), (2) and (4) only

(C) (1), (3) and (4) only

(D) (2), (3) and (4) only

FEB-13313/111

66. TIATAUH] HITd T-STEIITETETEA TR

e ?
(1) T ©-TA TR JeIH )/
o otaa

(2) LU & TH-3MEIHEMNET Tsh 9T

R

(3) T-3MERUETE F&-g< HUA &l

~

YU AT HH AlRIT 3R

(4) TT-SRUETA 3TeheES Heh

faTroome YA YR TRl

(A) (1) o1 (2) wed

(B) (1), (2) 37fur (4) e

(C) (1), (3) 37fur (4) Hea

D) (2), (3) 371 (4) e
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67.

68.

Which of the following are correct

descriptions of scoring of response on
creativity test ?

(1)

Response scored for showing
shift in thinking

(2)

Response scored for fluency but
not originality

(3)

Response scored for originality
but not fluency

(4)

Response scored for statistically
rarity of response

(3) only

(1) and (2) only
(1), (2) and (4) only
(1), (3) and (4) only

(A)
(B)
©)
(D)

Teacher-student relationships are
with which of the
following behaviour patterns of the

associated

students ?
(1)
(2)
(3)
(4)
(A)
(B)
(C)
(D)

Academic achievement
Conformity behaviour
Rewarding behaviour

Curiosity

(1), (2) and (3)

(1), (3) and (4)

(2), (3) and (4)

(1), (3) and (4)

67.

68.

FEB-13313/111

qeieiiard=an =r=vieRia  sTfha=a
TTUTThATE T TeTd T 10T /HIOTd
A/ SR Ted ?

N e N

(1) 7R3 e faarufshad feeiean
SeeTeled ShI0]

S E D ERRIUICE I CINICIEIE
(RITHT) O GO ATl

(ATSIHfET) 7 o

SFfRA= TUHA Arfa=araraa
(TSI ) IV qUT YedicaTsierd

(FJH) F

Ffwa" qunwd erqfma=a
qrEAfha gffesddmed &

(3) ®ed

(1) 7fr (2) ®erd
(C) (D), (2) (U1 (4) ek
D) (1), (3) AU (4) Herd

sregen—fornet Areandial Hey forneat=n
GIefeTdeh! IOl o JehIIe Heferd
a7

(1) S&fors Hared

(2) STEIRET o

(3) TIRGIH qUR o

(4) for=men

(A) (D), (2) o (3)

B) (1), (3) awfur (4)

(C) (2), (3) amfur (4)

D) (1), (3) afur (4)

(2)

(3)

(4)

(A)
(B)
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69. Match List I with List IT and select

the correct answer from the codes
given below :

List 1
(Sleep Disorder)

List II
(Description)

(P) Primary (1) Walking for

several minutes
during sleep
without remem-
bering it next day.

Insomnia

Sudden arousal
from deep sleep
with a scream or
cry with intense
fear.

Difficulty in
initiating/main-
taining sleep not
accounted for
physical, mental
disorders

(Q Somnambulism (2)

(R) Narcolepsy 3)

Irresistible attack
of refreshing sleep
and inability to
control sleep and
wakefulness.

Difficulty in
initiating/main-
taining sleep and
sudden scaring
arousal from deep
sleep not because
of other disorders

S) 4)

Sleep terror

®)

Codes :

P) @Q @) (S)
A 3 O @ (2)
B) G @ (@ (1)
© 3 1 @ (5)
D) BG) @ (@) 3)

FEB-13313/111

69. AR 19 AEH 11 A=A SISl g el
feeied Fehag=t A 4rg IW el ¢

I 1
(Fror=an fergpet)
(P) Wty 5w (1)

Q TE=Ra

2

3)
(S) frsmemsdt

4

(6))

Hehageit :

P Q@ ®
@A 6@ O @
B) 6 @ @
© 3 O @
M G @ @2

ot 11
(au)
Fmed o e
e g o feaett
q F Sean
feer A3 397
3MTed 380 fahan
e 80
=g Aot/ few

Areerd=n A S 3R
IAfw, AwEfas

faepdiges el
qarsdar™ HIO
o= w9 "
ERSIHELICIERE
T TR

g Arret/few
Jraredl A 30
feer A3 397
HEaEd 330 9 M

forpdines e

(S)
(2)
(1)
(5)
(3)
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70.

71.

Praise is ineffective when it is used
to :

(1)
(2)
3)
(4)

Foster warmth among students
Control behaviour of students
Compensate the reproof

Encourage students to enhance
enjoyment in task

A) (2), 3), @)
(B) (1), (2), (3)
©) (1), 3), @)
(D) (1), (2), 1)

Match List I with List IT and select
the correct answer by using the
codes given below :

List I List II
(Behavioural (Resulting
Technique) Application)

(P) Punishment (1) Leads to more
generalization

(Q Reward (2) Easiest behaviour
change technique

(R) Omission (3) Reinforcement after
termination of
activity

(S) Avoidance (4) Postpone contact
with aversive
stimuli

Codes

) @ @® O

Aa 3 @ @ @

B2 @O 6 @

Cc @ & O @

OO @ @ 6

70.

71.

FEB-13313/111

SiegT YT Wil ShIuMt shofl S deg]
@ gfomHeRRs T9d

(1) foeneataed v 3o defavamm
2) foeneats adq = woawEE

(3) el RUE WA
(4) HTATIA | ArefavarErst faeneat
IS QUG

(A)
(B)

(2), (3), (4)
(1), (2), (3)
(C) @), 3), 4)

D) @), (), 4)

AT 19 3=t 11 amefia 9 st ared
Erell feoied Hehay= Ay I IW
e .

It 1

It 11

(TdAfae™eR d3)  (SuASId Welld)

@) foem 1 Ifus gmET=l-
O B

Q e ) 99 dear™ Hdd
Y 97

(R) TTeaul ORERIICERZICE

S esul 4) 9T HIO=AT
SEIgeRTell HeY 42
TheAul

H‘E‘F’ﬁ'{:lﬁ :

P @ ® (S

Aa e @ @ @

@ O G @

@@ & O @

DL @ @ O
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72. Which of the following is/are

characteristic/s of evolutionary social

psychology ?

(1)

(2)

(3)

(4)

(A)

(B)

(®))

(D)

It rests upon natural selection

theory

Charles Darwin is pioneer of

evolutionary social psychology

It uses Hamilton’s inclusive

fitness theory

Experimental methods cannot
be used to test evolutionary

hypothesis

(1) only

(1) and (2) only

(1) and (3) only

(2) and (4) only

FEB-13313/111

792. WAt

HIUTT/RI0Td Scehldiael

qIATTS® AT /ATTTEIT=
TSRl eTRA 2
(1) 9 "9fifer frae fagider i

(2)

(3)

(4)

(A)

(B)

(®);

(D)

R

Schidiael TS ATTERITET

1 L I B | > et | = B |

d BfaeeT=n guEet g

fagiam=n o %

SRIESRDIESIE]

SThRTdIaEt  SU9si

yrEfre ggdi=r SUAEM gid

T

1)

1) 7o (2) wed

1) 37for (3) e

©Q 3T 4) e

35

[P.T.O.



73.

74.

Which of the following is/are the
process theories of work motivation ?

(1) Herzberg’s two-factor theory of
work motivation

(2) Maslow’s
hierarchy

theory of need

(3) Porter-Lawler’s performance
satisfaction theory

(4) Vroom’s expectancy theory
(A) (4) only

(B) (2) and (4) only

(C) (3) and (4) only

(D) (2), (3) and (4) only

In the context of stress response,
which one of the following sequences
is correct ?

(A) ACTH — pituitary
cortex — corticoids — general

adrenal

resistance

(B) Pituitary adrenal medulla
—s corticoids — ACTH
general resistance

(C) ACIH pituitary
corticoids adrenal medulla

—s general resistance

Pituitary — ACTH
cortex —s corticoids —s general

(D) adrenal

resistance

73.

74.

FEB-13313/I11
qEleTdeh! ShIUI/SRTOTCT ST HRoT=H /=

gfohan SYYR STR/STRT ?
(1) eglent= wEOOET fgoes Squxt
(2) HEE! TS SAfYgUh Iuuwt

(3) URX-eTer= FHeda-FaE 3qut
(4) TEAH STEE U

(A) @) T

(B) (2) A (4) ek

(C) (3) omfur (4) e

D) (2), (3) 37U (4) e

o e N Lo}

qToT Hffshard, JEictush! ShIvIdl hH SIS

e ?

(A) TH.AdTm — fagfee
Afugaen sl — Hifdehised
— W Yy

B) g — eI g —

Fifdenized T
TE Ay
(C) wH.3t.wa. IERIEED

Fifdnised  Aferaeen TEAM
TE Ay

D) T —» THdwEm -
3TTYgeHRR aea® — Fifehlzed —
TE Ay
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75. Repisodic memory is :

FEB-13313/111

75. e RO WIS

(A) reappearance of episodic . L
(A) TuErEte o1 s T gAeeH 3
memory which is very accurate
Gue STH T
(B) inaccurate memorization of
events due to active reshaping (B) TRUT=Al Giehad YAMHOGA ek
of memories
THI
(C) combination of new and
(C) IREA FAT=A 921 & A1 S
old memories of similar
events fasmr
(D) immediate ~ memory  of (D) wrafhgsedr faaefta wHyom=a
emotionally disturbing
dTcehlfcteh Sl
events
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